
TICKETS

Ball Toss

Games

Multiplication Word Problems
Name                                            Date

The Ferris wheel costs 5 tickets to 
ride. How many tickets does it cost 

The roller coaster cars hold 2 
people each. How many can 10 
roller coaster cars hold?

There are 5 children who bought 
balloons. Each child bought 2 
balloons. How many balloons in 
all did they buy?

An ice cream cone costs $3. How 
much will 5 children spend 
buying ice cream cones?

There are 4 people who play the 
ball toss. Each game costs 5 tickets. 
How many tickets are used?

There are 6 people who sell 
balloons in the park. 
If they each have 5 balloons, 
how many balloons are there 
in all?

Use the picture above to answer the questions.
Write the answer in the form of a number sentence. 

Example: 2 x 5 = 10
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for 5 people to ride?
5 x 5 = 25 3 x 5 = 18

2 x 10 = 20 4 x 5 = 20

5 x 2 = 10 6 x 5 = 30
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